mercoledi 2 dicembre 2020 16:21

n

M/H A oo M4

|

|

f

|

l

|
ofl\frcb{w u Q

= % \\é[‘.eL‘ .

Gy T wye ﬂwu"w

o & ¥

v (e\
=



o - | Q
C C?‘ot‘m lw—?«‘% l‘ﬂw& te W %e“&)

> Y=o < V(= _ >
E C‘?\L‘o\ = \IC?\L)”-“ Q.

£ - T NoGok a Tie { sy | £6RY
(L s
K@I(L—] e O b ans
x4 ({/’ Y *y /

{420
L0
S?'Ce(é X‘L prw.izl e B
> Ny “anu\»u@u" Y/ x@/""'—
s e
%;{ LU=t

oty phAl" ailstia 3 e M-,

4~

/e"" )‘%(fl oo

-f‘) —

L&ﬂ-\iv(%-\/(/\\ = V(&)

6\@\ § ,- K\T&()V C&))

ey -V (= 54 ( Qé\« 4)@»@*\:(,«,)@‘0.%
o) [""‘L\é‘-&) ‘o

V/

Lalﬂ WwJV (K’») &)

- - \ IIG\I \



' V(g)eo w3 R\ VTR)=
—| V' (B)o w3 k) b
) '\fﬁh(’;(l)éb

Nl cerw gerac Co
\ - _:l_-—— _.:3__-—: v Sf'f;z.
T [P e
- PN ;(\"ﬁ\)

ey = Vi)« V(R G v o
Vs /ﬁ = V() bery A+ oQ_})

~ \/' 6‘*) (-F=2
\ = L —_— ‘cﬂ"‘ /
5 (’( \ {“'L \ Vu (;‘\ \J) | ¥4~

EC A @4?)

-

;(CO>::1 EG(‘(.(\‘: ﬂ;, X3
X (O) =0

N ‘,cu""’-—a
Do oo 5 (> e we wdmmo bk

E‘&.“'?N(tzo 9*“((‘(\_/@ l\,((\‘:—-\(.‘"

Ll T v

CAs® WACULXOM AO

W(xg) e C'CED
fo=— \'*x(’(l‘!) /qu \




——

} N
\‘;: ‘r\l) (% 19) ) ?} \
L £) (&) = O
T Q00 4
162‘“1‘1‘@“ <.
n~< Lo }mLML

(<t yin )> &9
= Yh(H§H=>

-—




X[T):i= X (—t)

2 (o) = xfe)=7
Q’[Hf—;c@é) => s?/o).-;

R{q= (-4 = 3REN -2 X
B - o= 9% = (F
‘IQ(/\ ‘UuA,Lf.’\d K"[ﬁ x (F)

(Y/-—‘:‘_L ) K

wa&m fq_;'_ cﬁiﬁ(um—u g‘)? )

E5s. Yare

-—
S~—

{kr Platy)  xefl) | LeI  xeEER

x (8= & (xe AR | . P
( £ ¢ Ck(A):D“" P~
t
Teerene 2 m;&ra; C,L

CsZoo(ch) Ci?(&d) € = L
£ & () ¢ CM(XW)

Voerdr b/ iwPas ol A6

S




